RAINBOW RICHES

PA-5078 ON SALE NOW

P LOTTERY
|
l WHEN ANY OF YOUR NUMBERS MATCH THE WINNING NUMBER FOR THAT GAME, 3
WIN PRIZE SHOWN UNDER THE MATCHING NUMBER. B A
E CHANCES ARE CONSOLIDATED
A WIN WITH: WIN: 11N: CHANCES ARE T IN:
s $5 $5 9.09 $5 = 9.09
$5x2 $10 25.00
E $10 $10 33.33 $10 =14.29
$5x3 $15 40.00
P $104$5 $15 100.00
$15 $15 100.00 $15 =22.22
o $5x4 $20 250.00
$10x2 $20 250.00
s ($5x2) +$10 $20 200.00
$15.4$5 $20 200.00
T $20 $20 200.00 $20 =43.48
$20x2 $40 500.00
P (510x3)+($5x 2) $40 1,000
($15x 2) +$10 $40 500.00
[l 5204515455 $40 1,000
$40 $40 500.00 $40 =125.00
E $10x5 $50 1,000
($10x 3) +$20 $50 1,000
A (S15x2) + ($5x 4) 950 1,000
s (S15x3)+$5 $50 1,000
($20x2) +$10 $50 1,000
E $40+$10 $50 1,000
$50 $50 500.00 $50 =125.00
$50x 2 $100 6,000
P ($15 x 4) + (510 x 4) $100 6,000
o (520 x2)+($15x 2) + (S10x 2) + (S5 x 2) $100 6,000
(540 x2) + $20 $100 6,000
s $50+$40 + $10 $100 6,000
$100 $100 6,000 $100 = 1,000
T B 5400 24,000
(550 x 4) + (540 x 4) + (520 x 2) $400 12,000
P (5100 x2)+ (350 x2) + (520 x 2) + ($15 x 2) + (S10 X 2) + ($5x2)  $400 15,000
$400 $400 24,000 $400 = 4,286
l $100%5 $500 60,000
(550 x 4) + (540 x 3) + (520 x 4) + $100 $500 24,000
E (5100 x 3) + (520 x 6) + (S15 x 5) + $5 $500 20,000
$400 + $100 $500 60,000
A $500 $500 60,000 $500 =7,059
s $500x2 $1,000 120,000
(5200 % 2) + ($100 x 4) + ($50 x 2) + (520 x 3) + ($10 x 4) $1,000 24,000
E $1,000 $1,000 120,000 $1,000 = 17,143
$1,000x 5 $5,000 240,000
$5,000 $5,000 240,000 $5,000 = 120,000
P $17,000 $17,000 240,000 $17,000 = 240,000
s EACH GAME IS PLAYED SEPARATELY. OVERALL CHANCES
OF WINNING: 1 in 3.77
T Prizes, including top prizes, are subject to

availability ot the time of purchase.




